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=2 8 IE U SN 200,000 300,000 100,000
401 AL 2 T 200,000 300,000 100,000
01 Al& bl 198,600 297,900 99,300
o=z & E¥ U |XB 198,600
03 Al 2 CHH| 1,400 2,100 AT00
o=z & ZF Y SN 1,400
Ame HE ALY 150,000 0 150,000
401 Al EHIL 20| 150,000 0 150,000
01 Al Hl 149,000 0 149,000
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OAWE HEAS 149,000
03 A€ 2 01| 1,000 0 1,000
O2WZ HEAS 1,000
s XA 6,115,180 8,000,250 A 1,885,070
= 157,210
& 753,000
| 2,064,000
L= 1,143,431
Al 1,997,539
FTA e MAAISE SETHSH AHY 360,000 392,500 A 32,500
Il 144,000
= 64,800
Al 151,200
402 BI2EX20| M 360,000 392,500 232,500
Il 144,000
& 64,800
Al 151,200
01 2tRIE2E X 360,000 392,500 A 32,500
OFTA HAIMAAIE SOHE At 360,000
| 144,000
& 64,800
Al 151,200
SoE5=2 sTHADIE FXR0A 177,000 63,000 114,000
402 QIZEX20| M 177,000 63,000 114,000
01 QX=X 177,000 63,000 114,000
OA~g&FHNY 7,000, 000& *15Z *50% 52,500
OsiE HEHED N
20,000,000 *3= *50% 30,000
O==& aZEM X&
1,300& %61,5382F A +50% 40,000
OANd20&er- XA 1,250,000 *2091*50% 12,500
o028 A= NE 2,500, 0002 *16CH*50% 20,000
Ou==2HMIl X 22,000,000 *2CH*50% 22,000
HMEHE L 3,143,000 2,614,500 528,500
| 1,520,000
& 811,500
Al 811,500
402 QI2H X201 ™ 3,143,000 2,614,500 528,500
Il 1,520,000
= 811,500
Al 811,500
01 QX2 E X 3,143,000 2,614,500 528,500
ORMNEHE =4 3,143,000
Il 1,520,000
= 811,500
Al 811,500
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= H W

402 BI2tX=01 & 380,980 2,136,000 1,755,020
157,210
67,131
156,639

= N W

(=]

01

rit

r

I2tHEE2 X 380,980 2,136,000 1,755,020
OANEZN X o33 XN& 380,980
157,210

67,131
156,639

= N W
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x
o
=
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=
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,000,000 819,750 180,250
p) 400,000
= 200,000
Al 400,000

402 I 2201 & 1,000,000 819,750 180,250
Il 400,000
S 200,000
Al 400,000

01 BIZtAt= 2= 1,000,000 819,750 180,250

OANZ30 SEMNLAL 1,000,000
Il 400,000
S 200,000
Al 400,000

NEESS= HldoteA XA 1,054,200 1,102,000 A47,800
= 753,000
Al 301,200

402 RI2tA 201 & 1,054,200 1,102,000 N47,800
= 753,000
Al 301,200

=22 L 1,054,200 1,102,000 A47,800
£ ,054,200

= 753,000
Al 301,200
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0
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311,646
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622,663

= Y
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402 212201 & 640,800 432,000 208,800
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BRI AZAISI|BHES (el &)
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
Al 356,000
01 QI R=EE 640,800 432,000 208,800
OEANZ +EHZH X 640,800
pJ 213,600
L= 71,200
Al 356,000
ZASIE AISAIE SUSALY 25,000 25,000 0
402 BI2HRH20I A 25,000 25,000 0
01 QIARH=EE 25,000 25,000 0
OF4sIt MSAIE SUHEALY
10,000, 0002 55 Jt+50% 25,000
ENZ BSH FHIX 150,000 75,000 75,000
pJ 60,000
= 30,000
Al 60,000
402 BIFRHE20I A 150,000 75,000 75,000
pJ 60,000
== 30,000
Al 60,000
01 QIR =R 150,000 75,000 75,000
OEAMNZ ZYX FUIX 150,000
pJ 60,000
== 30,000
Al 60,000
EOLX MAH OFF X 2,000 2,000 0
= 600
Al 1,400
402 BIFRHEOI A 2,000 2,000 0
= 600
Al 1,400
02 QI2+CHE At H 2,000 2,000 0
OBO0LX Mo o+F X & 2,000
== 600
Al 1,400
2= NEFN K& 3,000 3,000 0
L= 900
Al 2,100
402 BI2ERHE2OI A 3,000 3,000 0
= 900
Al 2,100
01 QIAR=EE 3,000 3,000 0
OX%RJIl A=EM X& 3,000
== 900
Al 2,100
SANE Mo s K 192,990 160,000 32,990
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0 & 24
= 28,827
Al 164,163
301 et a3 192,990 160,000 32,990
= 28,827
Al 164,163
12 J|Et2 43 192,990 160,000 32,990
OSME M Hels X& 192,990
= 28,827
Al 164,163
SAMAZME € 2ETHE K& 38,046 32,000 6,046
Il 38,046
402 DI2HXHE 0 A 38,046 32,000 6,046
Il 38,046
01 QItXt=2E X 38,046 32,000 6,046
OZAMNZ(E=MZ)ME & =X X 38,046
Il 38,046
SAZ gl X& 20,000 24,000 24,000
L= 6,000
Al 14,000
402 BI2H X201 ™ 20,000 24,000 24,000
= 6,000
Al 14,000
01 SI2t X =8 £ 20,000 24,000 24,000
OZAZ HiEol K& 20,000
= 6,000
Al 14,000
SOHAE 2el 2 55,000 1,082,000 A 1,027,000
SOHAIZEAE R+ 55,000 50,000 5,000
201 et2Ad| 55,000 50,000 5,000
02 2324l 55,000 50,000 5,000
OZIHAIE AMNEEYE 232= 30,000
OZOHAIE AMEEH R+ 25,000
HY2IZH (T F=g) 63,200 61,400 1,800
Jl2dl(Fadsg ) 63,200 61,400 1,800
Jl2ZH (2B =) 63,200 61,400 1,800
201 L2 36,560 34,760 1,800
01 AFR 2t eld] 27,560 27,760 A 200
OgBt=2H| 14,400
OZUHAE =< 5,000
o=l 7,560
OLI=H(HYZE) 200,000 3 600
02 2324l 9,000 7,000 2,000
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